Doo00ooooooooon
oooo
2012/3/4

Abstract

gobooooooboooooboooooooooboboobooooo
ooo

Contents
1 0000000000000 2
2 0O00O000O0000O0O0O00 3
21 OO oo 3
211 OO0 oo 3
22 OO o oo 3
221 OO0 oo 4
23 O0000O00O0OO0OOOO0O0O ... ... oo, 4
3 O0000oooooobooooouugooo 4
31 00000000000 .+ . oo oo 4
3.2 0000000 .« . oo oo 4
3.3 OO0 . .. e 5
4 O00O00O0O 5
41 0000000 .. oo oo 6
5 00000000000 6
51 00000000000000 +. .« . oo, 6
5.2 O e 6
5.3 OO o oo oo o 6
531 OO0 . o oo 6
5.4 OO .. . o e, 7
541 OO0 o oo o 7
55 OO o oo o 7
56 000000 .« o oo oo, 7



6 UOOoOoOoooodo 7

6.1 OO0O0O0O0O ... . o e 7
6.2 OO0OO0OOOOOOO0O ... 0 0 ... 7
6.21 0O000OO0O0O0OO0O0O0O0O0O ... ... ... 8

6.3 00000000 .. ... o oo 8
6.3.1 000 .. ... 8

6.4 OO . ... 9
7 000000 9
71 00 e 9
72 000000 ... oo 9
721 0000 ... 0 0 o 10

0 T I I 11
731 000000 ... ... . . .. 13

8§ UOoooooo 14
81 OO ... e 14
82 OOOOOODODOODO ... oo .. 14
821 OO ... .. o 15

822 OO0O0OOOOOO) ... 15

83 OODOOOODO ... o oo oo 16
84 OOOOOODOOOOO ... ... . ... 16
9 Uoooooon 17
9.1 ODO00OO0OO0O0OOOoOoOooOOoOoooOoooo ... 17
9.2 00000 ... e 18
93 OO0O000O0 ... o o 18
931 0O0OO0OO0OO0OOOOOOOO0O0d «. ... ... ... . 19
io00ooooooocooon 20
10.1 OO oo e 20
102 0000 .. oo e 21
11 000000000000000 22
11.1 0000000 ... 0o e 22
11.2 OO0 .o e 22
11.3 0000000 ... o e 22

gobooboooooood

e co0J0000O0OOOOADDOODOOD ACOOOOOOOODOODDOO
oooood

e JO000D0DODODODOOOOOOOOOUUUOUOLO ADDODODOODODODOO
oboboboboobobobooooboobobOobobOobOobobo
OO0 AODODDODOOO

e ADODIDODOOOOOOOOOOO



e JO00D0O0OODOODLOOOUDOODOU eOODOUOD ebODbDOODOODOO
goooboobooboobobobobooboobooobon

e J00I0eDOODODDODOODDOO

2 Jooooboobooooobb

2.1 OO
Af(z) = f(z + Az) — f(z)
= f'(z)Ax
Af(x) . df(2)
Aoy TP =
df (x) = f'(z)dx
2.1.1 0O0O0O
d(x?) = 32°dx
2.2 00O

ggodobobbbtoooooobbbbood
Je

/df(:v) = d Ydf (z) = f(x) + const
gogooooo

dx = d(x + const)

oo

X=x
|0 = OB, = 1) - fa)

gboogbogooabod



221 000

/3x2dx:/d(a:3):x3—|—const
23 UJU0U0Uooooooboooboon

df (z) = g(x)dx

gbooboooboobooobooboobd

[ drta) = [ g(a)da

oooobooooooaono

d ddubbbbuoooooboobobon

obooooboooobooboooogon

3.1 Jooooooooon
ZAzBlEAlBZ

gbobooooboobooooooooobooboobooboobooboboon
googan
ooboobobooobooooboobooooboooooon

3.2 OUOgooog
oboooooobooooooo

/ dz f(2)g(x) = f(z)g(x)
J0ooooooooogooouoooooboogogo

Ai(x) = A0 = Aliy )



3.3 000
AMHJZEJ/M&WW%Q

4 0000

gboo20000000000000

- (A
(%)

gbooboobobbooboobooboon
1 0

=A€7 + Asér
doobodoooooboooooooooon

At = (Ay, Ay)
ooooooo

A-B=A'B=A,B, + AyBy = > AB;
i

gbooboobobbooboon

A=|Ale,
LA
A= T

| Al
|A| = VAtA

ot



4.1 0000DOOO0

A=14)
At = (4]
A-B = (A|B)

ooooboooobOobooooobooooooboooonoag

5 HUuuuouobuogd

5.1 UOdgoobooboooooooboo
e JO00ODOO0OOODOODOOOODOOLOOOODOOOODO
e JOODODOODOO
e JO0ODOOOOODOOLOOODOODODO
e JO0OOOOOODODLOOODOD

5.2 U
gboooooao

BTl
I
B
[
=
o1

5.3 00
e NUODOUODODOOOOO
e 0 (DDDO)OOODODOO
e NUUDOUOODLOOODLOODLODLDLOODLOO

e 1000000000 OO0OOOOOOODODODODOOOOOmMOOOODOO
etc.lJ

e JO00ODOOOOODOOOODODLOOODOODOOOO

5.3.1 000

e JOOO0ODOODDOODLDOODDOODLOODDOODLDOODLDO
ooooogd

e JOUOO0O0ODOODOODOOOOOOOOOOOOOOOODOOOOOOOO
ooooooog



5.4 00O
54.1 00O
0oooooDoo

8

Il
I/
IS NS
S~ —

5.5 00U
oboooooboooocoog

(%)

ooboobooooboboooboobooooboboooboOoobooon

5.6 UOOOODO

Il
S

S

P _
dt?

x:/vdt
v:/adt

6 UUuoboougoog

6.1 OUOogn
obooooooboooooboobooooboobooboooooobon

a

dv
dt

F=0-7=0
6.2 U0O0O0OOOOOOOO

F

[
3
Sl



6.2.1 OOO0OO0OOOOOOOO
oboooooobooooooboo

e JO00DOO0OOOODODLODODMMDODLOOODODOOOOODODOO

Av = I(F)FAt
e 10D OOOOOODODODO

—

Av = I(m, F)FAt

e JUDOODOODOODODDLOODLOODO

Av = I(m)FAt

e ]J00D0UDDOODOUODDOO 1/2000000

Av = const (1/m) FAt

oobooboooobooon

obob0ooboobOoboboobOoboboboboobOoboooooboooboon
googooad
F = 4 (mv)
6.3 LUOUOOoOooOO

OO0 A0O0O0BOOOOOOOOOODODOOODOOBOOD AOOOOOOO
gooon
oooobooooooano

mA&'A = FA

mpdp = Fp

6.3.1 0OOO

e JO00UD0OUOIDOODODOODODODODODODOUbOODLOOOLOOOOOOO
oooooooooboo



6.4 00U
e NUUDOOUODLOOODLOODODLDODODLOODLOODLOON
e NUUDOUOODLOOODLOOODLODODOO

e JO000DODODOODOOOODOODLDOODODODODODODOOmMOODOO
oboooooooooooo

7T Oooood

7.1 00O
00 ABOOOOOOOOODODOOO (mg)ODOODOOOOO

— —

7= B —TA
mACYA:F(’F)

mBEB = F"(—’F)

ma,AMaG,B -
GATGB o
T2
Oo00o0oooo0oooo0oooooooooooooboooobooooono
goooooo

F(f)=-T

m=mg

gbggboooobboabod

7.2 0OO0O0OOO0
00000 MghOOOODOOO!ODODOOOOOD (tomOoooOo

—

0000 RUODODDOODOUOUOUDUOOUOUOOOO z000D0O (&,

oo
0

0 |)o
)




R

F(/F‘):_F R2 T
Mg\ .
:—m<FR;D>eT
= —mge,
aoo
ma = —mge,
by 0
gy |=1 0
z —-g
goooooooon
ﬁ:—gtgr+170

S 1 oon o o
T = —§gt e, + vt + o

721 0000

00000000000 00000D000 vwWbxOODDOzO00OOOOD OO
goooog

0 cos
_’0 = 0 ,UO = Vo 0
0 sin 6
vot cos 0
T = 0

—%th + votsiné

0000000 (U=0000000000

L
z= —§gt + vot

10



ooogd

v, = —gt + vg
oo
po b
g
oo
2
Y0
29

73 LOUOOobOobOoOobooobood

00000 (AB)DOoO0O00oO0oO0OO00oOoOoOoUOoOoOooOoOooo!looooo
Ooooo gQOOOO
Oo000DooO«O000oO0o0oOgoooo

F=ip—ZFa=1+1d
doooooooooood

F(ii) = —kii = —kué,
goobooooooboooooobo

F(z) = —ku

u=x—1

goooboooobooooooooboo




u(t) = pcoswt + gsinwt

eiwt + efiwt e+iwt _ e*iwt
5 )+l 5

_ (P g (PR i
2 2

)

=p(

p—iq p+iq
Ch="5— C.="—
() ()1
dt w dt w u =
¢= (4w

Ut = C'_Fe+7‘.“)t7 Cy = +2iwA4

u= C+e+iwt + Ciefiwt

ooooooooo

12



p:CJr‘i‘C,

q=1(Cy —C_)

A, A
u(t) _ iez(wtfeo) + §efz(wt+00)

A

C+ = 5671‘90 Ci = e+i00

2|

p = Acosby
q = Asinf
u(t) = Acos by coswt + Asin b sin wt
= Acos(wt + 6p)
A2 = % 4
P = tan g
q
gboobooboboboon
u(0) =0
7r
00 == 5
u(t) = Asinwt

7.3.1 0OO0OOOO

AOOO
fpo0oooono
TOOOOOO
wl =27
7=
w
vaaoono
v=T"1



8 uobobnon

8.1 00O
ogooooooooooood
dx = v(t)dt
goon
AW = F . di

oooowgoooooooooooooo
goobOoboooboobooooono

W:/ﬁdf

oooobooooboooooa

Wzﬁ~/df£ﬁ-cf: |F'||d| cos 6

oo
e 000000000 0D0DOO F-d7=000000000000
e JOODOODODOOOW =W+ W,

82 0O0OO00O00O0OOOO
D000000000000000
F(F)
U=-w
000000000000000000

dU = —F - d#
VU = —F
9
= 0 %mU
VU= _ZU=gradU =1 35U
ox 5
5.U
%
= i
V=1 5
Y

14



8.2.1 OO

dU = mgdz

h
U:/ mgdz
0

U = mgh

8.2.2 JO0O0OOOOUODODO)

F=—k(x—-1)
dU = k(z — l)dx
AU = k(z — Dd(z — 1)

:gﬂzfnz

X=z k
U:/ —d(X —1)?
X=l 2

ooooboooooo

dU = gd(aj —0)?=k(z —l)dx

au
F=-"" = _fkz—1
- (z—1)

15



8.3 0LOUOU0ODOOO0ODO

_ d d
Femae _a.
ma dt(m’u) dtp
pOOODOODOO
p=mv
dp = Fdt
dK =p-dv

KOOOODODOoOOoooooo

K:/ﬁ.da
:m/6~d17

:%m/d(ﬂﬁ)

= —mv?
goboobooooboooobooooon

8.4 UUUO0OODOOOODO
gbooooboobooooooooo

E=K+U

ooooon
dE =dK +dU



ooooboooobooobooon
Uz, ,t)

god

_Ude, oUd, U

dU_%dt t i dt ot

= —Fodt + a—Uadt + Udt
ov

aE _ (U
dt ~— \ v

a+U> = £(t)

gooobooboooog

9 Oooboogo
9.1 OD0OO00OO0OO0bOOO0bOOoO0bOoO0bOoon

dE = £(t)dt

gbooobooooboobooooboooboooobooboooooboo

gbooooood
gboboobbooboboobobooboooboooboooboooon

good

17



god

AODDOO0O00000OO0OODOBOOOOOOBO AODOOOOOOOOOOO

oooog
ooooboooo->0obooocoonod

9.2 0OdUOogn

vot cos b
r= 0
— 142 ing
59t° + vot sin

v cos 6
0
—gt 4+ vgsinf

S
Il

1 1 1
K = §mv2 = +§mv(2) + 5m92t2 — mg(vot) sin 6

1
U=mgz= mg(—ith + vot sin 6)

1
= —img2t2 + mg(vot) sin 0

1
E:K—|—U=§mvg

93 000000
0000000000000000 (00000000000)000000

—

P =pi +ps

gogd

—

B ) . 3}
i Fo g+ Fiso=Fio—Fi_=0

gboboobooboobooboobooobobobobboon

18



9.3.1 00000000000O000
AU (21, @) = Va, U - dity + Vg, U - difa

= —Fy_ 1 -d¥y — Fip - dZs

—

Foyy = -V, U
Fi = —ﬁsz
1000

0
Fon = —aTclU(xhl"z)

1o}
Fi 5= *T@U(Ihxz)

ooooboooooao

0 0
<al‘1 + %) U(l‘l,l‘2) =0

0
EU(ZJ,_,Z_) =0

Z4 =Ty + 1

Z_ =X9 — X1
1
= §(z+ —z_)

1
xTog = §(z+ +2_)

0 _8.’E1 0 81'2 0

02y 0zy Oxy | Dzy Oxo

(0 0
_2 (9171 8x2

19



0 _a.’L'l 0 8:52 0

(97 B 87(9551 378582

1/ 0 0
2<%n&m>
U(zy,2-)=U(2-) =U(xg — x1)

gobobOoooooooboooboooooooooobobooooon
good

RN
0000000 KOoOOOO
0000
L od . d_
= 7 — — ¢ =
V=gt g Er =T =0

oobOobobooobooboooooboooooobooooboon

10 Jo0boobouoooooon

10.1 00O

. . . A2B3 — Ang
C=AxB= AgBl—AlBg

A1By — Ay By

(/T X é)z = Z €k A Bj

.5,k

€123 = €231 = €312 = 1

€132 = €321 = €213 = —1
€112 = ... = 0
cosbf 1 0
pl sind | xr| O | =pr 0
0 0 sinf



AxA=0
2
10.2 0000
L=%Fxp
dL . .
EzﬁxﬁJrfo:fo
F = -VU(%)
goo
F = f(2)&,

oooobooooooono

= —f(Z)dr
r’=z.7
0~ st

gbooobooboobbobooboobooboboboboo

22000000000000
A=A +1As
B = B1 +iBs
AB:A1B1+A2B2+i(AQBl —A1B2)

+i(A x B)3

o]

i

A. B = Re(AB)

(A x B)y = Im(AB)

21



0o
0000000000000000000000

7 = |v|?

gboobgooboboboobooboobooboooon

11 O0Uououououooogo
11.1 0O0doboo
L=K+W=K-U

11.2 00O

S:/Ldt

11.3 0000000

5S:/§Ldt:/ a—LéaH—a—Lév dt
ox ov
oL d (OL
= (5~ (&) o

OL d (0L

ooboobooboobobooobooboooon

L=K-U
_OU _d (9K _
dr dt \ v )
d
F(a) - & (mo) =
ma=F

22



